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Solving nonlinear simultaneous equations by R langauge

Bt —%F (EWHEHRAERKAT)
Kazushi Sakka (The Kyoto College of Graduate Studies for Informatics)

Abstract
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This paper shows the methods and examples of non-linear equations,spontaneous equations,

1* order differential equations.
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fx)=0 < Lidx=f'(0) KDL L, Thbb
y=fx) & x#li & DXL ERDSLZ L TH A,

ZITEFTET I 72 NTA LI y=sinx) &
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=sinx) EFMEILIETHLPRTOT T3
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curve(sin(x),-5,5)
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f= function(x) sin(x)

curve(f(x),-5,5)
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f= function(x) sin(x)

g= function(x) cos(x)
curve(f(x),-5,5)
curve(g(x),-5,5,col=2,add=T)
abline(v=0,co0l=8)
abline(h=0,col=8)
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T2 2O icos (x) DF T T HERT
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f=function (a,b,x) a*sin(x)+b*cos(x) & EF% L T

curve(f(1,0,x),-5,5)
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curve(f(0,1,x),-5,5, lty=2, add=T)
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Miixr y=fx) DI TH 2 o N 556 % B
fx,y)=0 D% BT E V) fix,y)=0 £ V) y=fx) ®
A EHRST L LI LIFLIERECTH 5, Bl 2 1E
Xy’ =4 EESH Iy =/ (4x) EEHETE D)2
BOBEEPLETH L L SIROENEINS LK
12, ZZTEBBOEOEE I 7FRRLTAL
o FIUTITFEF M T i < BIEL contour % il 9
x>-12xy -y*+28=0 (f1=0) & x*xy +y>-12=0 (f2=0
BM) ZRda—FERKRT7 T 72 2R,

CITRELTHIZYETDLER=0DT T T
yih e ER D
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x =y=seq(-10, 10, 0.2)

fl=function(x,y) x*3-12*x*y -y~ 3+28
f2=function(x,y) x*2-x*y +y~2-12

z1 = outer(x, y, f1)

z2 = outer(x, y, f2)

contour(x, y, z1, levels=0,col=2)
contour(x, y, z2, levels=0,col=4,add=T)
abline(h=0,col=8); abline(v=0,col=8)
grid(

text(-5,9,"x"3-12*x*y -y~ 3+28=0",col=2)
text(5,9,"x*2-x*y +y~2-12=0",col=4)
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r=f(t) £ 5-2 61, Mz L SFERTH 5,

r=2*sin(2*t) DIF

x=rcos(t) y=rsin(t) * 7’0 v b 5I2IZ

t=seq(0,2*pi,by=0.05)

r=2*sin(2*t)

x=r*cos(t);y=r*sin(t)

plot(x,y,xlim=c(-2,2),ylim=c(-2,2),type="1",xlab=
"x",ylab="y")
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x=f-'(0) ZRDBHZ L, Thabby=fkx & xililn
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TIXEBICABRERA L HRENTAHA LD,

WL CLIEMILTLRLEZ & 2000, wWaR)IE
MR x* - 2=0 VT A LI, 2y L
BEMZz T - - REELTL)EFL kv, &
BpENDOTIE R, 2525 Vbw b Rk
WFL 7 D72, BEAMICET /- RFEL VL LA
BB OB B/NPEEDIZ)DPRLAEL ZENTE
L1259 x=2 &L LTHhLE 2* - 2°=0 25T

z=locator(2)
points(z,col=4)
pl=z$x[1] ; p2=z$x[2]

ans=uniroot(f,c(p1,p2))
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777 NTHRLEL ) —DEDEIDH DD,
CAUIHIERINS L AR E S v, 2 OfEILEDS
ZHEAFE SN TS, R Tl uniroot & ) fHF
R EM SN TV D, x il OO H
BHx1 & x2 Y

ans = uniroot(f, c(x1, x2)) &3 5771 T X,

1% ans$root 12U F - TW T, Ml -0.7666825
Fa vy —=VEer I 70y JHEICERSIND, 7
BUEAAL TR EEIMNETTERI LD
round(ans$root,3) & 3 5,

# HEN =0 O fx) %525

f = function(x) x*2-2"x

curve(f(x),-6,6) # Z OO fx) 7a v b
abline(h =0, col=8) # x fli%Hi<
abline(v=10, col=8) # y il &<

x1l= x2= #x1,x2 DfEX5-2 5

ans = uniroot(f, c(x1, x2)) # x1,x2 O ] D
ans$root # fHTar -z
text (-2,5,ans$root) L7 T 7 4 v ZHWHIZ

title(main="Solution x*2=2x")

TH x1L,x2 I CEARMEEG 270000 ? 757
A WTAHRTH2S x1=-2, x2=0 & x#li & DX HD
FERDEZRDTHVWD, o EHEES Lk
DdAbo locator #1777 & xMhE DA E%E
L 2bE2 70y 035820200 x EIEN
x1,x2 &2 BHD72,

0o ans=-0.766643961468328
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BhHEAOELGEI/REZ~X7 PV TEHEZRT
polyroot PA% A fii 2 13 L v»

x+2x-3=0 DfFix

polyroot(c(-3,2,1)) X bWKF 5, 7272L ()
MIZARENHEDORELTH 56
L 1+01  -3+01 ERF B
T x=1, -3%FET,
F 72 2x’+x-2x+3=0 OfFIL
polyroot(c(3,-2,1,2)) &£ 1
0.5767283+0.75800721i,
-1.6534566+0.00000001 , 0.5767283-
0.7580072i &KF B2 2FHHOMITEKT
IR (R Th b,
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x’-3x-3-y=0

xsin(-x)+2-y=0

D7 KD &9

F9 nleqslv & W) T4 7TV R A= L
T, 77 7LD 9TE TR 2ODOMMBDOL
HREMHZERLCWD, I g 25 1217~
BI18ITO L) IR L THEX T #fix 35,

x =seq(-6, 6, 0.2);y=seq(-6, 25, 0.2)
fl=function(x,y) x*2-3*x-3-y
f2=function(x,y) x*sin(-x)+2-y

z1 = outer(x, y, f1)

z2 = outer(x, y, f2)

contour(x, y, z1, levels=0,col=2)
contour(x, y, z2, levels=0,col=4,add=T)
abline(h=0,col=8); abline(v=0,col=8)
grid()
#define eqs
library(nleqslv)
g= function(z) {

x = z[1]

y = z[2]

f1 = x*2-3*x-3-y

f2 = x*sin(-x)+2-y




c(f1, £2) — JHy=0& L T2 X% T & T
} K12 x 120 B HHH O L 5 12287 1) v 7 Tk
#solve DI2LDNHTTH5SH,
p=locator(1); points(p,col=4) LIRFRIIFE U TH 5o
x0=p$x ; yO=p$y P EoZ b X EEETH 2 b NI IR
ans = nlegslv(c(x0,y0), g) BATOFEREZ1E 7Y v 7 TT T 74 HI)ITK
ans$x;points(ans$x[1],ans$x[2],pch=20,col=2) DHIENTES
arrows(x0,y0,ans$x[1],ans$x[2] 1ty=3)
text(x0,10,paste("x=",round(ans$x[1],3)))
| = x=-2481  x=-0.689 x=1.17
€1 . R
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(x0,y0) & 34U 2 HHIFE DI SANHTH ISR S5,
f#1% ans = nlegslv(c(x0,y0), g) L VKZF
R x=ans$x[1] y=ans$x[2] TH %,

f1(x,y)=x"/2+x"-x(y+1)-1
f2(x,y)=y o
Ev ) # A% RO FETH 2. £1=0

X x=0 TAGEFEE 2 1) f2=0 X yEl &L A %
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K8 1=7Uy7IlkBEIHEN
7 ¥=-0689 x*-12xy -y*+28=0
9 -. x2-xy +y*-12=0
if / DfFEIE  x=ans$x[1],y=ans$x[2]
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x=-2.481 /;_ 117
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%% expression TEFL D 29 & ZDERY
Bodons, EHZARXZHDLLR T TE
LOTHEMTH Lo 7272 LEEIEL7Z 1T CRE LR
FORVWLTT 7 LA W

y=expression (x*3+a*x+b*cos(x)+log(x)/a)
(Dif1=D(y,"x") Hy
(Dif2=D(Dif1,"x"))  #y"
(Dif3=D(Dif2,"x") )  #y"

(Difa=D(y,"a™) #a Thtsr
(Difbo=D(y,"b") #b Ths

l1(x) 2055 L CZOEREZ KD 5121

fnl=deriv(~ FEJZ, X", func=T)

fn2(x) =function(x) attr(fn1(x),"gradient")

£ %,

fm2(x)=0 &\ ) HEXZ BT, ZTOMIIHT
% fnl(x) OMHIIMHETH %,

9 ¥ fn1(x)-2sin(x)-x+2 DI H

f1(x) = 2*sin(x)-x+2
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VB e DB fl 2 EZRT ULV, RO
077 ATIIOTHKEESGZOTHY2HE 7)) v
7 LT % 5 2 TIHEWTW A,
e BIRARFAENEZ 100, PORHEER % 107
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# =2 — b ROBBEER
newton_method = function(fnl, fn2, x0) {
eps=le-7;max=100;x =x0
for (i in 1'max) {
dx = fn1(x) / fn2(x)
Xx=x-dx
if (abs(dx) < eps) {
return(x)
}
H
stop("Not converge")
b
# HRNE FOBEME L ER
fnl=deriv(~x*2-2x,"x" func=T)
fn2=function(x) attr(fn1(x),"gradient")
curve(fnl(x),-2,5)
abline(h=0,col=8) ;abline(v=0,col=8)
#oa— i EA
z=locator(1);points(z,col=4)
x0=z%x
(ans=newton_method(fn1, fn2, x0))

points(ans,0,col=2,pch=19)

title(paste("x=",round(ans,3)))

ZOTaT T LILPBIETIVIER TR
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BlE L Tx — log(x)-1=0 D4, ZEITHEEL
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x0=complex(re=z$x,imag=z$y)

IS L 5Tz Dy FEIEDIE 7 5 R F
-0.3951+1.78821 WK F V), HLLZOHED
BWHEBHPK T 5o FFEIC x2-x+2=0 DRIL 0.5 =
1.3229i
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X
11 X’-x+2=0 DEZRH
N
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Wy hERrHEEx y, ¥y, ¥V 2EEED
FEA2by 2 xOMEE LTI LT, WMy
D BEEOHZRTERODEHTH 5. ZOREIHIE
Za— b roEFHFERICHET), IhFEFTEFTE
I RIBEPHTE SN TV DD, AT T3 — &1
IEFIHERG - B Th Y, BAEIC LT v
Bt b,

EZAHNRICIE ode & F ) HF 7 BARA R i <
T, y EWEZE 5 2 g,

LT HAZL T BT O E TOESIHE
T ENTE S,

e L CIERIL R y=x-y/2+2"*sin(y) % i\
ThEHe T3 dfn TG FHERXY 2 EFRT 50
times TIZ 022550 F TO0.1% ATy, vy Dli%
MEME L x=0, y=1 £ § %, FtH L out &\ 9
matrix (2D %, out D 15, FE2Hixt &y
THRED 1017 (tail) 22123 >V =)V L7,

Foplot I2& 0D 7T 7527z (K12). y DIl
E PO 52 E05bh 5%,

B 7 4751 deSolve SWETH 5,

time 1
492.] 49.1 3.141593
493 49.2 3.141593
494 49.3 3.141592
495,] 49.4 3.141593
496,] 49.5 3.141593
497,] 49.6 3.141593
498 49.7 3.141593
499] 49.8 3.141593
500,] 49.9 3.141593
501,] 50.0 3.141593
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library(deSolve)

# y=xy/2+2"(x)*sin(y)

y0=1;fm="x-y/2+2"(x)*sin(y)"
dfn=function(x,y,parms)

{list(x-y/2+2" () *sin(y))}

times = seq(from = 0, to = 50, by = 0.1)

out = ode(y = y0, times = times,

func = dfn,parms=null)

tail (out, n = 10)

plot(out[,1],outl,2],col=2,type="1",xlab="t",ylab="y")

title(paste("y'=",fm," y(0)=",y0))

y'= x-yl242*(x)*sin(y)  y(0)=1
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library(deSolve)
plot(0,0,ylim=c(-3,3),type="n");abline(h=0,col=8)
z=locator(1)
x0=z$x;y0=z8y
fm="x-y/2+2/(x)*sin(y)"

dfn=function(x,y,parms)
ist(x-y/2+2/ (x)*sin(y))}
times = seq(from = x0, to = 50, by = 0.1)
out = ode(y = y0, times = times, func = dfn,parms=null)
tail (out, n = 10)
plot(out[,1],outl,2],col=2,type="1",xlab="t",ylab="y")
points(z,col=4,pch=20)
title(paste("y'=",fm," "out[nrow(out),2]))

y'= xy/2+24(x)*sinfy) -3.14159200158544

-25 =20 -1.5 -1.0

-3.0

y'= x-y/2+#2°(x)*sin(y) 3.14150276227794
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